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(2] —o—o, NEBIZITFTL,
(3z — 2+ 2?)(22? + 4) = 3x(22% + 4) — 2(22% + 4) + 22(22° + 4)
= 62% + 122 — 42? — 8 + 22t + 422
=22 +62% + 1220 — 8

(B)miEnst (O+ A = 024204 + A2 %82 CHZ 5.
(47 + 3y)* = (42)* + 2 (4z) - (3y) + (3y)?
= 1622 + 24xy + 9y?

AR (O + A) (O —A) =02 — A2 5282 THZ 5,
(52 + 3y) (57 — 3y) = (57)* — (3y)
= 2522 — 9y?

FIEAA (ax + b)(cx + d) = acz® + (ad + be)x + bd ' H 2 TEZ 9,
3z + 2)(4x — 5) = 1222 + (=15 + 8)x — 10
= 1222 — 7z — 10

@ FIEAK (x4 a)3 = 2° + 3x2a + 3za®> + a®> ZRZTE I 9,
2z —5)% = (22)3 +3- (22)? - (=5) +3- (2x) - (—5)* + (-H)?
= 8z3 — 6022 + 150z — 125

FIEAK (x4 a)(2? — az + a?) = 2° + a®,

(x—a)(z® +ar+a?®)=x3—a®*2HZXTEI I,
(x+2)(2? -2z +4)=2*>+38



